Bepate (F) 1T (H) 2022 AR

R EMCE
2023 £ 2 H 18 H

—+ (30 &) iTE:

. 1 1
Ll (=7~ 5g)
k
1. cos(—)
2. lim — o
nreen T + sin(—)
n
In(z + 1)
3. N
AER / EFTE

4.y = /m V3—t2dt £z € [—V3, V3] EIIIK.
V3

“+o0
5. JE TS / e *cosz dx.
0

(10 53) RURBRIISIE, I G RIER : B £ (@) 76 (0, 1) EERE, WAL lm f(2)
tHE.

g(x) — cosx v 40
= (12 ) B g(z) AL, 9(0) =1, ¢'(0)=0, H f(z)= { x

a rz=0
14 f(x) f£ v =0 Abi%ES:, 3K a;
2. B f(z) £ x = 0 Abi&ELE, ThHe f'(z) 78 v = 0 LbREsEE.

M. (10 4%) AUARERL f(x) fEXF T E—S0ESH0E L, FHEY f(2) = 235 £E [0, +o00) k—3%ELE.

. (10 ) CRIESIMAFR IR f(0) W2 lim f(2) = J(0). HEY) f(2) 2 [0, +o0) LATRA M
5/ MH.

75 (oﬁ) RUA A X ) E TR, A P B [X )28 2 BRAIE B ) X )b bR 1 2 S AP AE M B f (o) 7
la, b] #EZE, f(a)f(b) <0, N 3ce (a, b) 5 f(c)=0

. (10 %) B4 f(z) 15 (-1, 2) BEKHSE. H f(3) = 0. iEH:
3¢ € (0, 1) 15 [£7(6)] > 4] (1) — f(0)].

IS (8 4) B f(x) £ [0, 1] EAZBrEES TR -

/0 2" f(z) de = ONFIOLF S0 —|—0(%) (n — 400)

n n2




